APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	CAROLINE BURGER	Page 1 of 5						
Project: SOUTHW	VEST BIKEPATH CULVERT REPLACEMENT	AT WAITE CIRCLE - 2019						
Contract Number:	8466	Payment Number: 3						
DO NOT WRITE	IN THIS BOX - TO BE COMPLETED	BY CITY ENGINEERING PERSONNEL ONLY						
TOTAL FROM PAGE:	5	1,195,363.61						
LESS RETAINAGE:		34,033.25						
SUBTOTAL;		1,161,330.36						
LESS PREVIOUS PAY	YMENTS:	422,183.65						
CURRENT PAYMENT	DUE:	\$ 739,146.71						
Dy this apparent in the second	TIME PERIOD FOR THIS PAYMENT REQUI	t of his/her knowledge, the work covered d in accordance with the contract documents, e amount certified.						
	PAYMENT REQUEST SHALL BE SUBMITTED PAYMENTS CAN BE PROCESSED EVERY TO							

R. G. HUSTON CO., INC.
SOUTHWEST BIKEPATH CULVERT REPLACEMENT AT WAITE CIRCLE - 2019
CONTRACT NO. 8466

CONTRA	ACT NO. 8466 NT NO. 3					1	1		1		*****		1
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOU	NT NO. 12481-84-174												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$3,200.00	\$3,200.00		0.50	\$1,600.00	0.50	\$1,600.00	1.00	\$3,200.00	100.00%
10721	TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE BOARD	14.00	DAYS	\$75.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10803	ROOT CUTTING	1.00	EACH	\$20.00	\$20.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10911	MOBILIZATION	1.00	LUMP SUM	\$171,011.91	\$171,011.91		0.50	\$85,505.95	0.50	\$85,505.96	1.00	\$171,011.91	100.00%
20101	EXCAVATION CUT	134.00	C.Y.	\$50.00	\$6,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20207	SELECT FILL SAND	1,620.00	TON	\$0.01	\$16.20		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20217	CLEAR STONE	150.00	TON	\$25.00	\$3,750.00		122.00	\$3,050.00	200.00	\$5,000.00	322.00	\$8,050.00	214.67%
20221	TOPSOIL	2,500.00	S.Y.	\$5.25	\$13,125.00		1,300.00	\$6,825.00	500.00	\$2,625.00	1,800.00	\$9,450.00	72.00%
20230	HEAVY RIPRAP - GLACIAL FIELD STONE	680.00	TON	\$56.65	\$38,522.00		680.00	\$38,522.00	0.00	\$0.00	680.00	\$38,522.00	100.00%
20232	EXTRA HEAVY RIPRAP	450.00	TON	\$56.65	\$25,492.50		70.00	\$3,965.50	0.00	\$0.00	70.00	\$3,965.50	15.56%
20233	RIPRAP FILTER FABRIC, TYPE HR	1,250.00	S.Y.	\$4.50	\$5,625.00		1,123.00	\$5,053.50	0.00	\$0.00	1,123.00	\$5,053.50	89.84%
20303	SAWCUT ASPHALT PAVEMENT	52.00	L.F.	\$2.25	\$117.00		20.00	\$45.00	0.00	\$0.00	20.00	\$45.00	38.46%
20311	REMOVE SEWER ACCESS STRUCTURE	3.00	EACH	\$1,750.00	\$5,250.00		0.00	\$0.00	3.00	\$5,250.00	3.00	\$5,250.00	100.00%
20314	REMOVE PIPE	148.00	L.F.	\$53.00	\$7,844.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20404	CLEARING	1.00	LUMP SUM	\$5,000.00	\$5,000.00		0.00	\$0.00	1.00	\$5,000.00	1.00	\$5,000.00	100.00%
20409	GRUBBING	1.00	LUMP SUM	\$5,000.00	\$5,000.00		0.00	\$0.00	1.00	\$5,000.00	1.00	\$5,000.00	100.00%
20701	TERRACE SEEDING	1,100.00	S.Y.	\$3.00	\$3,300.00		800.00	\$2,400.00	0.00	\$0.00	800.00	\$2,400.00	72.73%
20703	TEMPORARY SEEDING	1,400.00	S.Y.	\$2.85	\$3,990.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20801	SODDING	10.00	S.Y.	\$40.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21002	EROSION CONTROL INSPECTION	4.00	EACH	\$600.00	\$2,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

R. G. HUSTON CO., INC.
SOUTHWEST BIKEPATH CULVERT REPLACEMENT AT WAITE CIRCLE - 2019
CONTRACT NO. 8466
PAYMENT NO. 3

CONTRA PAYMEN	ACT NO. 8466 NT NO. 3										*****		1
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21011	CONSTRUCTION ENTRANCE	4.00	EACH	\$535.00	\$2,140.00		0.00	\$0.00	3.00	\$1,605.00	3.00	\$1,605.00	75.00%
21013	STREET SWEEPING	1.00	LUMP SUM	\$9,000.00	\$9,000.00		0.50	\$4,500.00	0.50	\$4,500.00	1.00	\$9,000.00	100.00%
21017	SILT SOCK (8 INCH) - COMPLETE	2,200.00	L.F.	\$7.00	\$15,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21021	SILT FENCE - COMPLETE	1,000.00	L.F.	\$3.50	\$3,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21064	EROSION MATTING, CLASS I, TYPE B - ORGANIC	1,100.00	S.Y.	\$3.00	\$3,300.00		1,100.00	\$3,300.00	0.00	\$0.00	1,100.00	\$3,300.00	100.00%
21073	EROSION MATTING, CLASS II, TYPE C - ORGANIC	1,400.00	S.Y.	\$4.85	\$6,790.00		1,050.00	\$5,092.50	0.00	\$0.00	1,050.00	\$5,092.50	75.00%
21084	EROSION MATTING, CLASS III, TYPE D	850.00	S.Y.	\$8.50	\$7,225.00		358.00	\$3,043.00	0.00	\$0.00	358.00	\$3,043.00	42.12%
30131	COLD WEATHER PROTECTION OF CONCRETE SIDEWALK & DRIVE (POLYETHYLENE)	2,100.00	S.F.	\$1.35	\$2,835.00		500.00	\$675.00	0.00	\$0.00	500.00	\$675.00	23.81%
40401	8 INCH CONCRETE PAVEMENT	100.00	S.F.	\$35.00	\$3,500.00		40.00	\$1,400.00	0.00	\$0.00	40.00	\$1,400.00	40.00%
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 2 OR NO. 3	230.00	TON	\$36.00	\$8,280.00		62.00	\$2,232.00	0.00	\$0.00	62.00	\$2,232.00	26.96%
50202	TYPE II DEWATERING	1.00	LUMP SUM	\$250.00	\$250.00		0.00	\$0.00	1.00	\$250.00	1.00	\$250.00	100.00%
50211	SELECT FILL FOR STORM SEWER	20.00	T.F.	\$0.01	\$0.20		0.00	\$0.00	18.00	\$0.18	18.00	\$0.18	90.00%
50303	12 INCH PVC SANITARY SEWER PIPE	206.50	L.F.	\$900.00	\$185,850.00		0.00	\$0.00	180.00	\$162,000.00	180.00	\$162,000.00	87.17%
50407	30 INCH TYPE I RCP STORM SEWER PIPE	20.00	L.F.	\$183.00	\$3,660.00		0.00	\$0.00	18.00	\$3,294.00	18.00	\$3,294.00	90.00%
50467	30 INCH RCP AE	1.00	EACH	\$1,775.00	\$1,775.00		0.00	\$0.00	1.00	\$1,775.00	1.00	\$1,775.00	100.00%
50703	6' DIA. SANITARY SAS	3.00	EACH	\$8,350.00	\$25,050.00		0.00	\$0.00	3.00	\$25,050.00	3.00	\$25,050.00	100.00%
50771	INTERNAL CHIMNEY SEAL	4.00	EACH	\$420.00	\$1,680.00		0.00	\$0.00	4.00	\$1,680.00	4.00	\$1,680.00	100.00%
50783	INSIDE DROP	1.58	V.F	\$915.00	\$1,445.70		0.00	\$0.00	1.58	\$1,445.70	1.58	\$1,445.70	100.00%
50791	SANITARY SEWER TAP	2.00	EACH	\$1,810.00	\$3,620.00		0.00	\$0.00	1.00	\$1,810.00	1.00	\$1,810.00	50.00%
50797	EXTERNAL SEWER ACCESS STRUCTURE JOINT SEAL	4.00	EACH	\$395.00	\$1,580.00		0.00	\$0.00	4.00	\$1,580.00	4.00	\$1,580.00	100.00%
50801	UTILITY LINE OPENING (ULO)	1.00	EACH	\$615.00	\$615.00		0.00	\$0.00	1.00	\$615.00	1.00	\$615.00	100.00%
90001	RIGID FRAME INLET PROTECTION- COMPLETE	11.00	EACH	\$340.00	\$3,740.00		2.00	\$680.00	6.00	\$2,040.00	8.00	\$2,720.00	72.73%

R. G. HUSTON CO., INC.
SOUTHWEST BIKEPATH CULVERT REPLACEMENT AT WAITE CIRCLE - 2019
CONTRACT NO. 8466
PAYMENT NO. 3

CONTRA PAYMEN	ACT NO. 8466 IT NO. 3						I				****		i
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
90002	REMOVE PEDESTRIAN RAILING	400.00	L.F.	\$16.00	\$6,400.00		0.00	\$0.00	400.00	\$6,400.00	400.00	\$6,400.00	100.00%
90003	REMOVE EXISTING STONE ARCH CULVERT	1.00	LUMP SUM	\$9,700.00	\$9,700.00		1.00	\$9,700.00	0.00	\$0.00	1.00	\$9,700.00	100.00%
90004	REMOVE TREES	401.00	I.D.	\$50.00	\$20,050.00		26.00	\$1,300.00	375.00	\$18,750.00	401.00	\$20,050.00	100.00%
90005	REMOVE, SALVAGE, AND DISPOSE OF RIPRAP AND GROUTED RIPRAP	240.00	S.Y.	\$42.00	\$10,080.00		251.00	\$10,542.00	150.00	\$6,300.00	401.00	\$16,842.00	167.08%
90006	HEAVY WASTEWATER CONTROL	1.00	LUMP SUM	\$32,000.00	\$32,000.00		0.50	\$16,000.00	0.50	\$16,000.00	1.00	\$32,000.00	100.00%
90007	STORM CONTROL PLAN AND IMPLEMENTATION	1.00	LUMP SUM	\$1,700.00	\$1,700.00		0.50	\$850.00	0.50	\$850.00	1.00	\$1,700.00	100.00%
90008	CONSTRUCTION FENCE (PLASTIC)	200.00	L.F.	\$7.00	\$1,400.00		0.00	\$0.00	200.00	\$1,400.00	200.00	\$1,400.00	100.00%
90009	CHAIN LINK FENCE	1,750.00	L.F.	\$17.00	\$29,750.00		0.00	\$0.00	1,500.00	\$25,500.00	1,500.00	\$25,500.00	85.71%
90010	INSTALL PRECAST REINFORCED CONCRETE BOX CULVERT - 6' RISE X 10' SPAN	64.00	L.F.	\$6,000.00	\$384,000.00		64.00	\$384,000.00	0.00	\$0.00	64.00	\$384,000.00	100.00%
90011	INSTALL PRECAST REINFORCED CONCRETE - 6' RISE X 10' SPAN END SECTIONS	2.00	EACH	\$11,000.00	\$22,000.00		2.00	\$22,000.00	0.00	\$0.00	2.00	\$22,000.00	100.00%
90012	BOX CULVERT RESTRICTOR PLATE	1.00	LUMP SUM	\$9,550.00	\$9,550.00		1.00	\$9,550.00	0.00	\$0.00	1.00	\$9,550.00	100.00%
90013	ANTI-SEEP COLLAR	1.00	EACH	\$7,300.00	\$7,300.00		1.00	\$7,300.00	0.00	\$0.00	1.00	\$7,300.00	100.00%
90014	SAS CORROSION RESISTANT COATING	3.00	EACH	\$4,250.00	\$12,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90015	TRENCH DAM	1.00	EACH	\$915.00	\$915.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90016	12-INCH SANITARY SEWER OUTSIDE DROP	5.87	V.F	\$315.00	\$1,849.05		0.00	\$0.00	4.00	\$1,260.00	4.00	\$1,260.00	68.14%
90017	CONCRETE ENCASEMENT OF SANITARY SEWER	50.00	L.F.	\$228.00	\$11,400.00		0.00	\$0.00	51.00	\$11,628.00	51.00	\$11,628.00	102.00%
90018	CONNECT TO EXISTING SANITARY SEWER	1.00	EACH	\$7,500.00	\$7,500.00		0.00	\$0.00	1.00	\$7,500.00	1.00	\$7,500.00	100.00%
90019	BACKFILL OF EXISTING 12" GAS MAIN	75.00	L.F.	\$16.00	\$1,200.00		40.00	\$640.00	0.00	\$0.00	40.00	\$640.00	53.33%
90020	3.5 INCH CONCRETE PAVEMENT	2,000.00	S.F.	\$7.00	\$14,000.00		500.00	\$3,500.00	0.00	\$0.00	500.00	\$3,500.00	25.00%
90021	RAILING (STEEL)	400.00	L.F.	\$198.00	\$79,200.00		400.00	\$79,200.00	0.00	\$0.00	400.00	\$79,200.00	100.00%
90022	CONCRETE FOUNDATION FOR RAILING (STEEL)	54.00	EACH	\$555.16	\$29,978.64		52.00	\$28,868.32	0.00	\$0.00	52.00	\$28,868.32	96.30%
90023	SUBGRADE PREPARATION	425.00	S.Y.	\$10.00	\$4,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

R. G. HUSTON CO., INC.
SOUTHWEST BIKEPATH CULVERT REPLACEMENT AT WAITE CIRCLE - 2019
CONTRACT NO. 8466
PAYMENT NO. 3

PAYMEN	ACT NO. 8466 NT NO. 3	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
90024	FINISH GRADING	1,300.00	S.Y.	\$19.00	\$24,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90025	SEEDING - WOODY UNDERSTORY SEED MIX	1,400.00	S.Y.	\$4.50	\$6,300.00		500.00	\$2,250.00	0.00	\$0.00	500.00	\$2,250.00	35.71%
90026	REMOVE CONCRETE HEADWALL	1.00	LUMP SUM	\$10,150.00	\$10,150.00		0.00	\$0.00	1.00	\$10,150.00	1.00	\$10,150.00	100.00%
90027	RECONSTRUCT EXISTING TERRACE INLET	1.00	LUMP SUM	\$7,370.00	\$7,370.00		1.00	\$7,370.00	0.00	\$0.00	1.00	\$7,370.00	100.00%
					\$1,338,542.20			\$750,959.77	_	\$423,363.84		\$1,174,323.61	87.73%
ACCOU	NT NO. 12671-83-173												
50302	10 INCH PVC SANITARY SEWER PIPE	81.40	L.F.	\$177.00	\$14,407.80		0.00	\$0.00	75.00	\$13,275.00	75.00	\$13,275.00	92.14%
50702	5' DIA. SANITARY SAS	1.00	EACH	\$7,765.00	\$7,765.00		0.00	\$0.00	1.00	\$7,765.00	1.00	\$7,765.00	100.00%
50801	UTILITY LINE OPENING (ULO)	1.00	EACH	\$615.00	\$615.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
					\$22,787.80		ı.	\$0.00	_	\$21,040.00	1	\$21,040.00	92.33%
CONTRA	ACT TOTALS				\$1,361,330.00			\$750,959.77	=	\$444,403.84	Ē	\$1,195,363.61	= 87.81%